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àíZ 1 

 
 XrKm}Îmar àíZ gmoS>dm. (H$moUVohr XmoZ) 

 
(40) 

1. ^maVmVrb bmoH$g§»¶mdmT>rMr H$maUo {bhm d bmoH$g§»¶m {Z¶§ÌUmH$[aVm gwM{dÊ¶mV Amboë¶m 
Cnm¶¶moOZm ñnï> H$am. 

 

2. ^maVmVrb J«m‘rU d ehar ^mJm§‘Yrb Xm[aÐç d ~oH$marMo ñdén ñnï> H$am.  
3. Hw$Qw>§~ {dKQ>Z åhUOo H$m¶?  Hw$Q>§w~ {dKQ>ZmMr H$maUo {bhm.  
4. doí¶m ì¶dgm¶mMr H$maUo {bhm.  
   

àíZ 2 WmoS>³¶mV CÎmao {bhm. (H$moUVohr VrZ) (30) 
1. gm‘m{OH$ g‘ñ¶m§À¶m {Z{‘©Vr{df¶rMo Ñ{ï>H$moZ ñnï> H$am.  
2. bmoH$g§»¶mdmT>r‘wio {Z‘m©U Pmboë¶m g‘ñ¶m gm§Jm.  
3. ñWbm§Vamg H$maUr^yV KQ>H$ gm§Jm.  
4. erK« gm‘m{OH$ n[adV©Z d gm‘m{OH$ g‘ñ¶m ñnï> H$am.  
5. gw{e{jV ~oH$marMr H$maUo gm§Jm.  

   
àíZ 3 Q>rnm {bhm. (H$moUË¶mhr XmoZ) (30) 

1. nma§nm[aH$ ^maVr¶ g‘mOmV gm‘m{OH$ g‘ñ¶m§Mo à‘mU H$‘r H$m hmoVo?  
2. bmoH$g§»¶m {df¶H$ g§H$ënZm  
3. KQ>ñ’$moQ>mMo Xþîn[aUm‘  
4. d¥Õm§À¶m g‘ñ¶m  
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Translation in English 

Sub: Social Problems in India (Part-I) (SC-101) 
 

 
Instructions:  Attempt  all questions.  

 

Q.1. 

 

Answer in detail (Any Two)  

 

(40) 

1. Write causes of population growth in India and measures suggested to control 

population growth. 

 

2. Describe the nature of proverty and unemploymet in rural and urban areas.  

3. Define family disorganization and enumerate its causes.  

4. State the causes of prostitution.  

   
Q.2. Answer in brief (Any Three) (30) 

1. Explain perspectives on the cause of social problems.  

2. State problems created due to population growth.  

3. Which are the factors responsible for migration?  

4. Explain rapid social change and social problems.  

5. Write causes of unemployment among the educated.  

   
Q.3. Write short notes (Any Two) (30) 

1. Why in traditional Indian society social problems were fewer ?  

2. Concepts regarding population  

3. Illustrate effects of divorce  

4. Problems of aged  

___________________ 


	ñWbm§Vamg H$maUr^yV KQ>H$ gm§Jm.

